1. During the time of which Mughal

Emperor did Sir T
1r Th e to
Indiap omas Roe com

(A) Babdr
Akbar

(€) Jahangir

(D) Shah Jahan

(E) None of the above/More than one
of the above

2. Ain-i-Akbari was written by

(A) Abdul Qadir

(B) Akbar

(C) Khwaja Nizamuddin

)Ef Abul Fazl

(E) None of the above/More than one
of the above

3. The Ryotwari system was first
implemented in

(A) Gujarat
/(,Bé’dras
(C) Bombay

(D) Orissa

(E) None of the above/More than one
of the above
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4. The Uprising of 1857 was describﬁd_
as the ‘First Indian War

Independence’ by

)A/) V. D. Savarkar

(B) Bal Gangadhar Tilak
(C) R. C. Majumdar

(D) Dadabhai Naoroji
(E) None of the above/More than one
of the above
5. The first woman President of the
Indian National Congress was
(A) Sarojini Naidu
){]‘ Annie Besant
(C) Kasturba Gandhi
(D) Aruna Asaf Ali
(E) “None of the above/More than one

of the above

6. Who started the journal, Bahishkrita
Bharat ?

/(A{ Jyotiba Phule
(B) Karsandas Mulji
(C) Bal Gangadhar Tilak
(D) Babasaheb Ambedkar

(E) None of the above/More than one
of the above



7. The Forward Bloc was founded by
(A) Sardarsinhji Rafia

/(B( Subhas Chandra Bo;e
(C) Jayaprakash Narayan
(D) Lakshmi Sahgal

(E) None of the above/More than one
of the above

8. Who was the Finance Minister in the
Interitn Government?

Liaquat Ali Khan
(B) Sardar Patel
(C) M. A. Jinnah

(D) Jawaharlal Nehru

(E) None of the above/More than one
of the above

9. Who took the lead of the Santhal

Rebeltion of 1855 AD?

)dﬁ‘:dhu and Kanhu
(B) Budhu Bhagat and Teja Bhagat
©

(D)
(E)

Mulu Manek and Jodha Manek
‘Madari Pasi and Sahadev

None of the above/More than one
of the above

10. Who invited Gandhiji to come to
Ch aran?
Raj Kumar Shukla

(B) Rajendra Prasad

(C) J ayapra.kash Narayan

(D) Krishna Sahay
(E) None of the above/More than one
of the above
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11. Who had attained enlightenment j,
Bodh Gaya? |

(A) Mahavira Swami
Gautama Buddha
(C) Simandhar Swami |
(D) Parshvanath Swami |
(E) None of the above/More than one
of the above -

established 2@ branch of

12. Who
Anushilan Samiti in Patna in
1913 AD? |
(A) Ramananda Sinha
(B) tish Jha

Sachindra Nath Sanyal
(D) Bipin Jha
2 (E) None of the above/More than on¢
of the above

13. Who had formed the Bihar Socialist
Party in 1931 AD? ';
(A) Phulan Chand Tiwari and

#éndra Prasad

(BY” Phulan Prasad Varma
Jayaprakash Narayan

(C) Raj Kumar Shukla and Swami
Agnivesh

(D) Swami Sahajananda and Swarmi
Yogananda

(E) None of the above/More than one
of the above

and

14. Where is Sher Shah’s tomb located?
Sasaram
(B) Maner
(C) Sitamarhi
(D) Pavapuri

_(E) None of the above/More than one
of the above




15. Whi
: m} 0.1‘10 of the following Harappan
Sites is in Gujarat?

(A) Lothal
(B) Dabarkot

(Bl R

(E}”None of the above/More than one
of the above

igarhi

e founder of the Chola

Vijayalaya
(B) Karikala
(C) Aditya I
(D) Rajaraja I

(E) None of the above/More than one
of the above

17. Who was the President of the First
Buddhist £ouncil?
\/h&uwd('fﬂ

Vasumitra

(B) Mahakashyapa MM
(C) Sangharaksha
(D) Parshvaka

None of the above/More than one

(E)
of the above
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18. Who wrote the book, Kiratarjuniya

(A) Bhatti
(BY Shudraka
(C) Kalidasa

(D) Bharavi

(E) None of the above/More than one
of the above

19. The Qutub Minar was completed by
Iltutmish
(B) Qutb-ud-din Aibak
(C) Ulugh Khan
(D) Raziya Sultana

(E) None of the above/More than one
of the above

20. Who was the founder of the

Vijayanagara Empire?

(A) Deva Raya I

(B) Krishnadeva Raya
Mﬁhara-Bukka

(D) Vira Narasimha Raya

(E) None of the above/More than one
of the above



21. i
Ganga Plain has been described as a

(A) pediplain
pencp]ajn
(©) geosyncline

(D) karst plain

(E) None of the above/More than one
of the above

Which of the following is a freshwater
lake?

(A) Chilika

(B) Sambhar

(C) Wul
(D) L

None of the above/More than one
~ of the above

23. Which of the following planets has the
least density?

(A) Earth

(B) Mars

(C) Vefius
Saturn

None of the above/More than one

(E)
of the above

What is the most famous feature of
Chiria located in West Singhbhum?

(A) lpoD Ore Mining

24.

{ Dam
(C) Bird Sanctuary
(D) National Park
None of the above/More than one

(E)
of the above
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25. Pattiseema Project is associated with
gration of which of the

Krishna and Kaveri
Krishna and Godavari
Godavari and Mahanadi

(€)
(D) Ganga and Brahmaputra
(E) None of the above/More than one

of the above

Which of the following statements are
concerned with eskers and drumlins?

1. Eskers are ridges of crudely

bedded gravels and sands.

2. Drumlins are constituted mostly
of boulder and clay.

3. Basket of eggs topography is the
characteristic of terrains wi

eskers.
While eskers are built by glacier

streams, drumlins result from

glacier action.
Choose the correct answer from the

options given below.

(A) 1,2 and 3
(B) and 4
(¢’ 3 and 4 only

(D) 1 and 2 only
(E) None of the above/More than one
of the above

27. Combustion of underground coal
occurs in the State of

(A) West Bengal

(B) Bthar
) Jharkhand
(D) Odisha

(E) None of the above/More than oné
of the above




28, Yinich district of Bihar has mica
depersjr’

Rohtas
(55 Patna
() Gaya

() Saran

(£} None of the above/More than one
of the abave

29. The confluence of the rivers Son and
Ganga is Jocated in which district of
Biha?

Bu
Patna
(C) Bhojpur
(D} Nazlanda
() Neone of the above/More than one

of the above

20. The rivers Damodar, Koel and
Subarnarekha originate from which of
the following?

(4) Deccan Plateau
(B) 2] Highland
Chota Nagpur Plateau

(1)) Meghalaya Plateau

(£) None of the above /More than one
of the above
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31. Which is the first Ramsar Site in
Bihar?

(A) Kaimur Range
(B} Kharagpur Lake
Kanwar Lake

(D) Rajgir Hill

(E) None of the above/More than one
of the above

(B) Rohtas

(C) Nalanda

(D) Nawada

(E) None of the above/More than one
of the above

33. Which agroclimatic region of Bihar
has the Highest number of districts?

Northern East
(B) Northern West
(C) Southern East
(D) Southern West

(E) None of the above/More than oné
of the above



G .
Codery in the scisnce that deals with

AV dating of terrentrial rock
I
() measurement of dimenaion of the

varth

:
() measurement of elevation and
depression of the earth

‘ Al
(D) recording  of  the  changes

undergone by the erust

(E) None of the above/More than one
of the above

38, The theory of continental drift was
developed by

(A) ). Wilson
M) A, Wegener
(C) Du Toit

(D) H. Hesn

(E) None of the above/More than one
of the above

36. Sunda Trench lies parallel to the
inlan

/mf’m’“\'“
(13) Maldives
(C) Sumalra

(D) Mauritius
() None of the above/More than one
of the above

37. An cffective Corlolis force results from
(A) sojar system
; /;;urll'a rotation
(€) interior of the earth
(D) Colorado and Oulf Streoams
(E) None of the above/More than one

of the above
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a8, Whieh of the following  countriey
does not have a land border with the |
Dead Sea?
(A) l-.;ﬁi-.mrmn
(B Jordan
(€) farael

(D) Paleatine
() None of the above/More than one

of the above

39. limenite, which is widely distributed
along the Indian coastline, is a
mineral of
(A) tungsten
(B) titanium
(C) gallium
(D) tin
(E) None of the above/More than one

of the above

40. Compare the Himalayan river with
the Peninsular river based on the

following comparisons :
1. Most of the Himalayan rivers are

perennial, whereas most of the
Peninsular rivers are rain fed.

2. The gradient of the Himalayan
river is steeper than the

Peninsular river,

3. The Peninsular river causes more
erosion on its way in comparison
to the Himalayan river.

Choose the correct answer from the

op,ti})n’givcn below.

/[A 1 and 2 only ',

(B) 2 and 3 only

(C) 1 and 3 only

(D) 1,2 and 3 i

(E) None of the above/More than on¢
of the above
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41. Th
- e ” o
Qom::i?mbem of a State Legislative
the foll. are not chosen by which of
BV l\; OWIng categories of persons?
Members of the local bodies/
__ Panchayats
(B) Teachers
(€ Graduates
ll? “Industrialists
‘ -
) None of the above/More than one
of the above
42, The Snli
Tg;; {'_S'Pht _system’ in the Indian
a0ministration relates to

Al Audit/Accou
s nts

(B) Union/States

@Cl Policy/Implementation

(D) Al India  Services/Central
Services

(E) None of the above/More than one
of the above

43. Which of the following is a

Parhamcntan Committee relating to
delegation of power to make rules and
regulations to the Executive?

{A) Committee on Executive
Legislation
B} Co ittee on Subordinate
Legislation
(€ tmmittee on Administrative
Legislation

) Committee on Delegated
Legislation
(E) None of the above/More than one
of the above
44. Article 300 of the Indian Constitution
deals with
(A) suits and proceedings
(B) rnment contracts

{C) AArtorney General
) restrictions on trade and
commerce

} None of the above/More than one
of the above
45. Judigial process in India is based on

(A} the Constitution
due process of routine law
(C) fonventions
the procedure established by law
(E} None of the above/More than one
of the above
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46. The first ‘Lokayukta’ was establisheq
in which of the following States? '

(A) OdisHa

(B) Kerala
Maharashtra

(D) Punjab

(E) None of the above/ More than one .
of the above

47. Which of the following posts was held
by A. S. Anand in late 1990’s?
(A) Comptroller and Au ditor General

(B) Chief Justice of India
(C) Chief Vigilance Commissioner
(D) Attorney General
(E) None of the above/More than one
of the above
48. Which of the following is not a part
of the Eleventh Schedule of the
Constitution?
(A) Libraries
(B) Fuel and Fodder
(C) Ru
(D) Féchnical Training
None of the above/More than one
of the above
49. How many (number) ‘Demands for

Grants’ are put before the Parliament
as a part of the Annual Budget in

pursuance to Article 113 of the
Constitution?
(A)
96
(C) 104
(D) 109

(E) None of the above/More than one
of the above

50. In which year was the ‘National
Extension Service’ launched?
(A) 1953
(B) 1957
(C) 1960
(D) 1972
(E) None of the above/More than one
of the above



S51. The

: best index of economic
evelopment is provided by
A .
(A) growth in national income at
current prices
(B) gro in per capita real income
fr Year to vear
(O growth in sav
> growth in savings ratio
(D) improvement in balance of
payments position
(E) None of the above/More than one

of the above

52. The second phase of the Swachh
Bharat Mission (Grameen) is to be
implemented during which time
period?

(A) 2020-21 to 2022-23
(B) 2020-21 to 2023-24
(C) 2020-21 to 2024-25
(D)
(E)

2020-21 to 2025-26

None of the above/More than one
of the above

Who among the following is not a part

53.
of the National Development Council?

(A) The Secretary of the NITI Aayog
(B} The Secretary of the Planning
and Programme Implementation
Ministry

The Vice Chairman of the NITI
Aayog

The Chairman of the Finance
Commission of India

(C)

(D)

None of the above/More than one
of the above

(E)
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54. Match List-1 with List-II :

List-—1 List—I1 |
a. Sarkaria 1. To Review the
Commission Methodology for
Meaaurement of
Poverty
h. C. Rangarajan 2. Infrastructure
Commitfee Financing
c. Parekh 3. Central-State
Committer Relationship
d. Narasimham 4 Banking Sector
Committee Reforms

Choose, the correct answer from the

/:;l% given below.
e b

a € d
3 i 2 R
(B) a b c d
2 1 3 4
(C) a b ¢ d
4 3 2 1
(D) a b ¢ d
I 2 4 3
(E) None of the above/More than one
of the above

Consider the following States :

1. Punjab

2. Uttar Pradesh

3. Andhra Pradesh

4. West Bengal

Choose the correct sequence of the
above in ascending order as rice-
producing States in India.

(A) West Bengal, Punjab, Andhra
Pradesh, Uttar Pradesh

We Bengal, Uttar Pradesh,
dhra Pradesh, Punjab

Andhra Pradesh, Uttar Pradesh,
West Bengal, Punjab

Andhra Pradesh, Punjab, Uttar
Pradesh, West Bengal

None of the above/More than on¢
of the above

55.

(B)

(D)

(E)



856. Wi
Lft::::mis::f:.:‘m‘r ool ige
f‘nll(awlnn ul S o senw—e 50
b O " Alements

' e Finance Commission s A
Statutory body.

- 1‘:‘:1‘ :’I‘i:nm-r t‘n.mnu‘ninn wana set

der  Article 280 of the

_ Constitution,

3. The recommendations made by
the Finance Commission are only
advisory in nature. ‘

4. The first Finance
was met up in 1950,

Which of the above statements are

correct?

(A) 1 and 4 only

(B) .3 and 4 only

‘/IC]' 2 and 3 only

(D) 2 and 4 only

(E) None of the above/More than one
of the above

Commission

§7. With reference to the Bare Necessities
Index (BNI), consider the following

statements |
1. The economic survey has come
up with the Bare Necessities

Index at rural and urban levels.
The BNI has been created for all

2.
States for 2018 only.

3. The BNI is based on 26 indi-
catlors.

4. The BNl consists  of  six

dimensions.
Which of the above statemenls are

correct?
(A) ) and 3 only

(B) and 3 only
1 and 4 only

n 2 and 4 only
(E) None of the above/More than one

of the above
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88. Which type of banka is proposed to b,
eatablished for agriculture and rury
development in Bihar?

(A) Kriahi Vigyan Banks

(B) erq'_h'r Yantra Banks

(Ql"f;-i‘ahi Vikas Banka
/(I')I Krishi Utthaan Banlksa

(E) None of the abave/More than one
of the above

59, The value of Human Development
Index of Bihar in 2019 was

(A) 0641
(B) 0613
(C) 05

0:574

(E) None of the above/More than one
of the above

60. The fiscal deficit in Bihar during
2021-22 is estimated as

(A) ¥22,511 crores
(B) £27,617 crores
(C) ¥20,011 crores
(D) ¥21,543 crores

(E) None of the above/More than oné
of the above




Q“ } = —
:\I;:fif:i Digital  Rikar  Programme,
h students will receive computer

edueat
eation and training from 2021-22
onwards '

(A Al students of Class V

(M Al students of Class V1

{C) All students of Class VII
(D) All students of Class VIII

None of the above/More than one
of the above

(E)

62. According to the 15th Finance
Commission’s recommendations, how
much share will Bihar receive in
divisible pool of Central taxes from

2021-267

412 percent
(B) 423 percent
() 4-89 percent

() 406 percent

(E) None of the above/More than one
of the above
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63. Who among the following is m‘.{

member f the 15th Finane,
Cnmyasﬁ:?

yt/ Ashok Kumar Lahiri
v

{B) Sudipto Mundle

(C) Ramesh Chand

(D) Ajay Narayan Jha

(E) None of the above/More than one
of the above

64. In the recent Union Budget, the FM
has increased the Foreign Direct
Investment (FDi} limit in the
insurance sector from the existing

one to
(A) 50%
(B) 62%
74%
(D) 100%

(E) None of the above/More than one
of the above

s per the Union Budget, 2021, the
! iscal deficit is estimated to be how
much percent of the GDP in 2021-22?

(A) 88%

(B) 7-8%

(C) 76%

6-8%

(E} Nene of the above/More than oné
of the above




66. i\:h;ﬁ }if;j::;;l.:hcd Incdian  Aasociation
( # Surendranath Banerjoe
(B) Chittaranjan Das
(€) W. C. Banerjee
(D) Aurobindo Ghosh

.‘ :l
(E) None of the above/More than one
Uf lhc llb“\'c

67. !n wl‘\.’ich country was the honorific
I:lcum applied to the name of Subhas
Chandra Bose?

(A) India

(B) Italy

(C) Germany

(D) pan
None of the above/More than one
of the above

68. Who is related to ‘Chittagong Armoury

Raid'?

(A) Rash Behari Bose

(B) Chandra Shekhar Azad

(C) B eshwar Dutt

Surya Sen
(E) None of the above/More than one
of the above

ath of Bankim Chandra

69. In Anandam
which revolt is

Chatterjee,
mentjoned?

Sannyasi
(B) Kuka
(C) Santhal

eel (Indigo)

(E) None of the above/More than one
of the above
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70. Which of the following evenjy
happened [irat? "

(A) Quit Indin Resolution
(ﬁ}fﬂrrivnl of the Cripps Mission
(C) Arrival of Lord Wavell as the
Qovernor Qeneral |
(D) Arrival of the Cabinet Mission
(E) None of the above/More than one
of the above

71. Who was the President of Lahore
Session  of the Indian National

Congress held in 1929 AD?

(A) Vallabhbhai Patel

(B) tilal Nehru
Jawaharlal Nehru

(D) Rajendra Prasad

(E) None of the above/More than one
of the above

72. Who is not related to the Champaran
Satyagraha of 1917 AD?

(A) J. B. Kripalani

(B) Raj Kumar Shukla

(C) Rajendra Prasad
Ram Manohar Lohia

(E) None of the above /More than one
of the above

73. One of the leaders of the Revolt of
1857 AD, Kunwar Singh was related
to which place?

(A) Gwalior
agdishpur

(C) Jhansi

(D) Meerut

(E) None of the above/More than on¢
of the above




74. Duri :

E;““g Quit India Movement, who

o ong the following escaped from the
azaribagh Jail?

(A) Sachchidananda Sinha

}B'/J 3)’apl‘akash Nara_yan

(C) Jagjivan Ram
(D) Rafi Ahmed Kidwai

(E) None of the above/More than one
of the above

7S. Who- was the President of Gaya
Session of the Indian National
Congress held in 1922 AD?

/(m/Chittaranjan Das

(B) Hakim Ajmal Khan
(C) Mahatma Gandhi
(D) Maulana Abul Kalam Azad

(E) None of the above/More than oneé
of the above

Prasad held

76. What portfolio Rajendra
Government

in the Interim
established in 1946 AD?

(A) Finance
(B) Defence
(C) Home
Food and Agriculture

(E) None of the above/More than one
of the above
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77. Where was the Ghadar palﬁ_:

established? /
(A) Germany /

United States of America /
(C) France j
(D) England

(E) None of the above/More than one
of the above

78. Who established the Servants of India
Society in 1905 AD?

(A) Surendranath Banerjee

(B) Bipin Chandra Pal

(®)] adev Govind Ranade
Gopal Krishna Gokhale .

(E) None of the above/More than oné
of the above

79. Who has written the book, Unhappy
India?
(A) Bal Gangadhar Tilak
(B) Annie Besant
(© a Lajpat Rai
A. O. Hume

(E) Nohe of the above/ More than one
~"of the above

80. Who participated in all the three
Round Table Conferences?

(A) Maulana Abul Kalam Azad
(B) Madan Mohan Malaviya

. R. Ambedkar
(D) Mahatma Gandhi

(E) None of the above/More than oné
of the above

T e
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84, The perimeter of a rhombus is 53 n/

81. The va]
ue of log /5 (32) is
(A) o and its shorter diagonal is 10 m, Ty},
2 length of the longer diagonal is [
/LB1/5 /
€ 10
o) L
10 (B) 18 m
(E) None of the above/More than one
of the above (€) 10 m
" | 4 13
- By selling 45 lemons for £40, a man D) 24
loses 20%. How many should he sell = 7
for 24 to gain 20% in the trans-
action? ;
yS I8Y4H ~ 20 / (E) None of the above/More than one
(A) 16 224 l"z_a% of the above
14
:@;7 %—qu 18 \6} Co5
9§ (©) 20 W
(D) 22 85. In a 100 m race, A runs at 8 kmph. If
}__ (E) None of the above/More than one A gives Ba start of 4 m s atill poate
9, ) @ R h;n; l;y 15 seconds, what is the speed
- , ‘ S .

24
b2 ‘685 A'%ram 110 m long is travelling at a
speed of 58 kmph. The time in which (A) 5 kmph
S yo, 48

1t will pass a passerby walking at

4 kmph in the same direction is
) 576 kmph
(A) 6 seconds
1 O
B 75 seconds (©) 6 kmph \b
(©) 7.1 seconds
(D) 6'34 kmph
(D) 8 seconds
(E) None of the above/More than one (E) None of the above/More than on¢
of the above _
2) &_

of the above

oLp“ﬁM 26 = LS
&
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865 F, -y 5
A clock is set right at 8 a.m. The clock

izl‘;‘;lo minutes in 24 hours. What
indi the true time when the clock
Cates 1 p.m. on the following day?

(A 12 noon
(B) 48 minutes past 12 noon
€@ 1 pm.

(D) 2 p.m, -~

‘/fﬁﬁaf the above/More than one

of the above

87. The value of the continued fraction

is
A 1
® -1
© 2

(D) O
the of the above/More than one

(E)
of the above

06/FG/CC/P’_1‘—2022/26_-D
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88. How many numbers between 200 and

600 are divisible by 4, 5 and 6? /
/

(A) 4
(B) 5
ol
(D) 8

(E) None of the above/More than one
of the above

89. If n is any positive integer, then
(39" —43") is always divisible by

(A 7
B 17
©) 112

s

(E) None of the above/More than one
of the above

90. The difference between the squares of
two numbers is 256000 and the sum
of the numbers is 1000. The numbers

are

(A) 600, 400

(B) 640,360
prﬁ(& 372
(D) 650, 350

' (E) None of the above/More than one’
: of the above

2 0% 95(000

iy . Ld, =
M‘}c (000

.

)
3
T ————



91.
gg:d feather, a rubber pball and a
Simmen ball are falling freely
_ taneously from the g height
In vacuum, then A
(A) the feath
er will
ground first el
(B) the rubb
er ball wil
& ground first BRILEROE
(C) theAvooden ball will reach at the
ound first
all the three will reach at the
ground: together
(E) None of the above/More than one
of the above

92. .When a soap film on the water is seen
in the daytime, it shows beautiful

colo . This phenomenon is due to
/ﬂ‘)%i?l’raction of light
(B) refraction of light
(C) polarization of light

(D) interference of light

(E) None of the above/More than one
of the above

ass number of a nucleus is

the sum of the numbers of

neutrons and protons
(B) the total mass of neutrons and

93. The

protons
(C) always more than the atomic
weight
(D) always less than its atomic

number
(E) None of the above/More than one

of the above
4. Which of the following is the main
ingredient of cement?
(A) Limestone
(B) Ssilica clay
(C) ‘Gypsum

(D) Ash.
(EY” None of the above/More than one
of the above

06/FG/CC/PT-2022/26-D
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95. Isotopes of an element differ in
(A) ghe number of protons
the mass number
(C) the number of electrons
(D) the atomic number

(E) None of the above/More than ene
of the above

96. The temperature point at which sobd,
liquid and gaseous states may stay

together is known as
(A) boiling point
(B) melting point
(C) freezing point .
triple point _
(E) None of the above/More than en‘c ;
of the above _
97. The most important ore of aluminium
1S
bauxite
(B) calamine
(C) calcite
(D) galena

(E) None of the above/More than one
of the above

98. Which among the following sclutions
has pH value more than 7?
(A) Buffer solution
Basic solution
(C) Acidic solution
(D) Neutral solution

(E) None of the above/More than on¢
of the above




AN~ &
AM~ pin

99. Which amon
. g the f . ‘s an
incorrect option? ollowing 18

(A) At i 5
»‘ pr::; Is electrically neutral due to
presence of protons and electrons
nside thc nuCIe.uS
(B) EI '
) an;Ct;ons are negatively charged
b ave negligible mass.
(C) Atomic 1:1umber is the number of
protons in an atom of an element.
(D) Isoto;?es are useful as nuclear
fuel, medical field, in carbon
d g, etc,
None of the above/More than one
of the above

100. Select the incorrect statement out of

the following.
(A) Cotton is suitable for use as
clothing in summer because it

absorbs moisture.
(B) Polycarbonate is used for making

CDs.
Acrylic is also called artificial silk

as it is prepared from cotton but
has shine like silk.

(D) Teflon is used for
non-stick kitchenwares.

(E) None of the above/More than one
of the above

101. Which f the following statements
: graphite and diamond is true?

They have the same crystal

structure. |

(B). ’fhcy have the same hardness.

(C)r They have the same electrical
conductivity.

(D) They can undergo the same
chemical reaction.

(E) None of the above/More than one
of the above

coating

06/FG/CC/PT-2022/26-D
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102. Which of the following is the majg,

constituent of the liquefied petroleyy
gas?

(A) Methane

(B) Ethane

(C) Propane

(D) B mane
None of the above/More than one

of the above

@. Water padses from the soil into the

a physical process called

diffusion
(B) transpiration
(C) absorption

(D) osmosis

(E) None of the above/More than one

of the above |
4

converted into useful substance with

the h of
bacteria

(B) viruses

(C) nuclear proteins

(D) radioactive substances

(E) None of the above/More than one
of the above

105. In the nighttime, it is advised not to

sleep under trees because
(A) they liberate less amount of

oxygen
(B) they liberate harmful gases at
igtit
they liberate carbon dioxide
(D) they liberate carbon monoxide

(E) None of the above/More than oné
of the above

# %
_._*-F"Ff-“'f‘:"" g

B B e iy



106. zis&if:;?iﬂm plants grow in soil
(A) water
(B) magnesium
(C) nitrogen

(D)

ium
None of the above/More than one
of the above

107.

7 ?te:i'n of a plant helps in distributing
ood to gll parts of the plant. It also
helps 4

storing the food

(B)
(C) respiration
(D)

(E) None of the above/More than one
of the above

shaping the plant

photosynthesis

108. In transfusion, blood must be
compatible not only in blood type

but

in

Rh factor

(B) the number of white cells
(C) the number of red cells
(D) race of donor and recipient

(E) None of the above/More than one
of the above

109. Pituitary, gland is located in
(A) ipfestine

liver
(C) phdney
brain
'(E) None of the above/More than one
of the above

06/FG/CC/PT-2022/26-D
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110. Which of the following rays/waves o,

used to know the growth of fetus;,
m 1
the womb? .
(A) X-rays
(B) Micrgwaves
(CY” Ultrasonic waves
(D) Ultraviolet rays
(E) None of the above/More than one
of the above

111. The universal acceptor blood group is
A) A
B B

s

D) 0

(E) None of the above/More than one
of the above

112. Pneumonia is an infection of
(A) nerve
(B) blood
(C) skin
lungs

(E) None of the above/More than on€
of the above




113 — ,
vA PEESGE wlanding in frn of o mir

bty &
r’;{:;ihii_nﬁ‘i_umuu larpse than hituwesll
mglies that the i is
(A) conca
(Hj Jilarie
(C) canves
(15) evlindric il '
} Wi H'f'ﬁ
e e Flging

() Mane af 1he by /Mare thinni one
of the aligve

Y18, A fan produces fesling of camfor!
auring the hot weatlier liscaime

(A) fan supplies conl alr

(B) aur hady radintes mors heal i
alr

(C) egariuctivity of alr increasies
aur  perapiration  svaporales
rapidly

(Fj Mane of the above/Maore than oné
of the ahove

118, Twinkling of 6tare in clear sy during

nightme can he explained with
refraction of light
(B reflection of light

(Cy polarization of light
() interference of light

() Mone of the ahove/Mare than one
of the ahave

116, Hydrogrn bomb s based on e
principle of
(A controlled fusion reaction

(7 vigeontrolled fusion rerction
/‘%Mm”ad finnfon reaction
(3 uncantrolled fisslon rencton

(fj Mane of the aliave/Mare than one
of the abiie

0 | WG| CC | KT-401% 4/ 3610

A6

I, Wl pstis coelesel tiater di g
ptitdletr Histaifak
(A1 wilet _uh‘u.m Fitliing al fgy
- (et fiire e o bl prsssgg
(1) wiiler  atuiti bl wt I:igﬁ
[61jb s fite L Wlgh preeasiie
() witler  wlidela L AT T
R N A (L LTI
(11 wilee et bollag il Ll
(it aliies dile Lo low pressire
(ff) Mune of the abive/Mate thatn Grie
uf (he nlusvs
(18, If the dooen of o efrigecatar are left
apen for tew hodira, thet Lhie Foem
(Gtapmritirs will
(A) decrenne
() inereaue
4
(C) renfain the aime
(D) decreine anly in the area in the
2 vielnity of the refrigerator
(6} Hane of the above/Mote than cne
af the wliove
110, A piece af ive ia foating in @ beaker
contairdng wister g o tte brirn: When
whale of the iee riells
(A) the waler will spill on the Qoor
(H) the lovel of water will come down
i the beilese
() e Jedsl of waler will fest fall and
e 1 will gptil out of the bealer
{11 the water lovel will not change
/4 (I16) Nowe of the alwive/Mare Hian ong
of the slhiove
140, Whileh o the fullowing ls not corvectly
Lo
‘/(A] Voltimeter  Potential difference
(“) Arrimnel e Il}lmqpi(n current
(C) Potentiometer -Ilectrumotive e
() Cinlvinometer Blecive reslstance
(1) Nane of the nlove/Move than ene
ul the ilove '

Vit eday

'




121, :
On which date was the

Pradhanm
antri I e
ojana a!turted?]“E"’:u-1 Samman Nidhi

(A) ovember, 2017
1 January, 2018

(€) 1 February, 2019
(D) 1 April, 2020

(E) None of the
of the abo(\:r :bove/ More than one

122, i
22. In which game was the Gold Medal for

India won in the Olympics, 20217
(A) nastics

Javelin Throw
(C)
(D)

(E)

Boxing

Shooting

None of the above/More than one
of the above

How many medals have been won
by India in the Tokyo Paralympics,

20217
(A) 19
(B) 2

22

18

None of the above/More than one
of the above

123.

(D)
(E)

which date did India take over

124. On

Council?
(A) 1 January, 2021
(B) 1 arch, 2021
(C) April, 2021

) 1 August, 2021

(E) None of the above/More than one
of the above
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the Chairmanship of the UN Security
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125. When the US evacuated its troop g

126, Which French company

128. In which

oliEr,
1

é

g

'

¥

from Afghanistan, who was the lagt §
American soldier to leave Kabulp |

General Frank McKenzie

(B) David Brunnstrom
(C) Major General Chris Donahue

(D) Ross Wilson _

(E) None of the above/More than one :
of the above

supplied

Rafale fighter jets to India?

(A) LB Aviation
Dassault Aviation

(C) Issoire Aviation
(D) Humbert Aviation

(E) None of the above/More than one
of the above

127. When did the clash between the

soldiers of India and China take
place in the Galwan Valley?

(A) December 2019
(B) April 2019
(C) January 2020
Me 2020
(E) None of the above/More than one
of the above

country, the Pegasus
has been developed?

spywar

Israel
(B) Brazil
(C) Russia
(D) China

(E) ' None of the above/More than oné
of the above




{B) 1 NO\'Ember’ 2020

3 1 uary, 2021
1 July, 202

{(E) None of th
e
of the aboy :bO\‘EI More than one

130. Whij
oy ntey oxpocted Sputile ¥
A erica
Russia
(C) UK
(D) France

(E) None of the above/More than one
of the above

131. Joe Biden has assumed office as the
A) 4 President of America
V[Blﬁ President of America
(C) 48th President of America

(D) 49th President of America

(E) None of the above/More than one
of the above

Who was the foreign Chief Guest in
the Re lic Day parade in 2021?

Boris Johnson

132.

Vladimir Putin
Barack Obama

Sheikh Hasina
None of the above/More than one
of the above :

(B)
(@]
(D)
(E)

06/FG/CC/P’I‘-2022/26-D

| 133. Who is the Permantni R
of India in the UN?

{A) Tayun Baig
T. S. Trumurt

(C) Ajay Seth
{D) Harsh Vardban Shringia

of the above

district Bihar has more Women

than _zfen?
Gopalganj

(B) Begusarai

(C) Patma

(D) Siwan

(E) None of the above/More than one
of the above

135. In which year was the first sitting
of the Bihar Legislative Council

convened?
(A) 1911
(B) 1913
(C) 1914
(D) 1919
(E) None of the above/More than one
of the above
136. Rashmi Kumari from Bihar is a/an
(A) international cricketer
(B) international carrom champion
(C) football player

(7" None of the abov
of the above e/More than one

40

(E) Nomne of the above/More than one

134. According to 2011 Census, which

1
|
:
4
i
!
’
3
]




137. T igi
he ‘Digital Indja Award, 2020’ was

[g;\)ren to the Bihar Government for
establishin i insti

in Bihes g technical institutes
(B) nging IT revolution in Bihar

( fag El::..'a.tit‘lg e-administration in

providing services to people
stranded outside Bihar during
COVID-19 lockdown

None of the above/More than one
of the above

(E)

138. How many seats are reserved for
the. SC candidates in the Bihar
Legislative Assembly?

(A) 38
(B) 40
(©

46

None of the above/More than one

(E)
of the above

139. In which year was 50% reservation
in Panchayat bodies

in Bihar?

2014
None of the above/More than one
of the above

In which year was Bihar divided to
create Jharkhand?

2000
(B) 2001
(C) 2004

(D) 2005
(E) None of the above/More than one

of the above

140.
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141. The new ministry proposed in
Bihar Budget for the year 202125

focuses on

(A) child care

. o
D

(B) women empowerment :_

(C) infrgstructure development

skill and entrepreneurship

development

(E) None of the above/More than one
of the above ;

142. How many departments are covered ;
under the Human Development

Sub-Mission in Bihar?
(A) 6
(B) 7

e s i i

c) 8
(D) 10
(E) None of the above/More than one

of the above

143. From which district of Bihar was
the Garib Kalyan Rojgar Abhiyan
launched by the Prime Minister in

20207
(A) Patna

/(B}énka

(C) Madhepura

e e R TR T TR

(D) Khagaria

(E) None of the above/More than oné :
of the above :



1 avi
8 ,“.lﬂ'lilll'm:!nr{ql ilu‘!‘afm.nvml Ly WH,
AL Berim st e
(R) Rharae Bine)
() Panaen Hiniee
) Zydns Cnelili
() None of (he aloye/More (i one
0f the ahoye
148, m;m- is the Tength of (he Alal Tunnel,
nﬁ% Himaehal Prindesh?
(A) A0 Jem
fB) 0:03 lem
(€) 104 lan
B] 1109 lm

L
(B) None of the above/More (han one
of the ahove

146, In which year was (he Railway Budgel
merged with (he General  Budgel
in India?

(A) 2016
(B) 2016
(€) 2017
(D) 2018

(B) None of the ahove/More than one
of the above

147, What is the purpose of the Cltlsenshlp

(Amendment) Acl) 20197

(A) To remove Rangladeshl  [llogal
immigranis

(B) To identify — genuine

citizens

o Aheck hordsr infiltration by

relpners

Indlan

(©)

“mg grant olthenship - lo
pnfﬁmmlmi minorlly  groups ol
Bangladesh  wnd

Myghanistan,
Paleialtan

None of 1he above/More than ane
of the above

()
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conleuetion of residences for all

TMEIGEL
Nune of the above/More Lhan one
of the nbove

(1)

(F)

Nerrilory formed aftet
and Kashmir Blate
(slature of [ts own?

149, Which Unlon
diviglon of Jamminu

does not have a leg
(A) Jamiriu
() Kaslunir

(€) Ladakl
(1) Both Kashimir and Ladaleh

(I5) None of the above/More than vne
of the above

180, Who Ia the Indian footballer who won
i/'\l ﬂr‘l?All\!lmlil':'llnnv:::*"::ll‘lﬂﬂt \‘I::t'p;\‘:t}:l?g
or 40419 ‘ thh
(A)
(1)
()
(1))
(1)

Huresh Hlngh Wangjam
Bandesh Jhilngan
Anlleel Jadhay

Atindam Bhattnohagyg

Nane of the
: 10 abo w o e
of the ubove ve/More than one




